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10.

PART-I/ 9 - | (General Awareness /9™ )

_Contour lines on a map join places of:

(A) Equal mean atmospheric pressure
(B) Equal average temperature

(C) Equal rainfall

(D) Equal height above sea level

Point out the incorrect statement

To qualify for the membership of Rajya Sabha, one has

to. ;

(A) Be a citizen of India

(B) Be at least 30 years of age

(C) Fulfils the qualifications of becoming a member of
parliament )

(D) Be avoter in any Lok Sabha constituency of India

To which ocean the Panama Canal joiné the Atlantic
Ocean? )

(A) Pacific Ocean
(B) Indian Ocean
(C) Arctic Ocean
(D) Caspian Sea

Who is the cabinet minister of Railways in 16" Lok
Sabha:

(A) Mr. Arun Jaitley

(B) Mr. Manoj Sinha

(C) Mr. Suresh Prabhu

(D) None of these

“Bharat Kesri” award is given in the sport
(A) Judo (B) Wrestling

(C) Boxing (D) Malla-Khambh
PV Sindhu is related to which sport?

(A) Cricket (B) Badminton

(C) Tennis (D) Billiards
Largest State in India in terms of area is:

(A) Madhya Pradesh
(B) Rajasthan

(C) Uttar Pradesh
(D) None of these

Who will be the host country of 2020 Olympic games:
(A) Japan (B) U.S.A.
(C) China (D) UK.

Ricket is a disease of children caused due to
deficiency of: .

(A) lron (B) Magnessium
(C) Mineral (D) Vitamin D
‘Silly’ is a term related with the game of:
(A) Golf (B) Cricket

(C) Chess (D) Boxing

1.

10.
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AMfEE W g e 6w @ sed §

(A) T9M A" IaEelg gue
(B) &9 aftgd dmasmy

(C) &AM gut

(D) IR &R & SN T Ha

IHUH FIT H IBIN
T T H HeE W 7 3 e Frefaiag @1 oesr
HAEAEF B

(A) I WG F ATRG BT Ay

(B) 30 a9 &l g FH & FH B =@y
(C) WFT §a& & & fou &eft ovéarell & qur e =nfen
(D) 9T & f5E Qs §9r &% § HeRmar 2T =R

W'Wﬂmmm&mm%my

(A) F9IT=T HEERTT

(B) = wemr

(C) 3TERfed HEErr

(D) FHa &R

164 MH-T § DT &K 3 37 75 99 T
(A) 2 =9 S

(B) 4t 7= fgmr

(©) = g 7y

(D) 39 & F

‘AR BEl” TR B A9 3 fg Rar s 87
(A) (B) =

(C) SiferET (D) Aea-EH
. Ry Be @a F wafE &

(A) Bde (B) Jsftres
(C) 2FH (D) femmarde
6 A gfe ¥ wRa ¥ waie 91 w9 &
(A) TeT u2er

(B) ToTEH

(C) IT W=y

(D) 574 & HE

2020 Maffas Qe B AoEFT HE AT 29 B
(A) STH™ (B) g.Tg.q.
(C) = (D) T.3.

T & gen I Frafifed @ w0 @ & ¥
(A) e (B) o
(C) @ (D) Rreftm D
Rl (Silly) we fFa @ & g &

(A) TicE (B) Bde

(C) sraesT (D) TehawH
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

There is a temperature at which degree Fahrenhight
and degree centigrade have the same numerical value.
This numerical value is:
(A) —32°

(c) 0°

(B) —40°
(D) 32°

The first Indian to receive Nobel Prize:

(A) DrC.V. Raman
(B) Rabindra Nath Tagore
(C) Mother Teresa
(D) Dr. Hargobind Khorana

Which Mughal emperor imposed Jeziya on Hindus and
encouraged the Hindus to convert to Islam:

(A) Shahjahan (B) Jehangir

(C) Aurangzeb (D) Akbar

How many States are there in the Union of India:

(A) 25 (B) 28
(C) 22 (D) 29

National Anthem of India:

(A) Jana-Gana-Mana
(B) Sare Jahan Se Acchha
(C) Vande Matarame
(D) Sar Farosi Ki Tammana

A student sitting on a last bench in a classroom
cannot see clearly words written on the blackboard. He
is suffering from —

(A) Long sightedness

(B) Short sightedness

(C) Astigmatism

(D) Long sightedness as well as short sightedness

The saffron colour in our national flag signifies:
(A) Faith and Chivalary

(B) Truth and Peace

(C) Courage and sacrifice

(D) All of these

Whose government is functioning in the centre:
(A) BJP

(B) Congress

(C) UPA

(D) NDA

The Bhakra Nangal dam is built across the river:
(A) Beas (B) Sutlej

(C) Indus (D) Chenab

Which of the following was not written by Kalidas?

(A) Kumar Sambhavam
(B) Laghujatakam .

(C) Meghdootam

(D) Raghuvansham

1.

12.

13.

14.

15.

16.

17

18.

18:

20.
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(A) —32° (B) —40°
(C) 0° (D) 32°

)

T QPN IR g FEH ARG &
(A) =t oHL . T
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(C) WX &
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(A) qmEsTEl (B) AT

(D) TFT

g |99 7 B 1y &

(A) 25
(C) 22

ARG BT T &
(A) S5

(B) ®R &t & 378l
C) g m

(D) |7 ®AE F qHAT

FaEEd 3 diftm ¥ W I g ReEl A eEE W e 9=
q%-a% 8 REE 3N a8 o AT @ o R

(A) & gfte
(B) @Y gfe
(C) AfergaHar

(D) & gfte ik wm & @y 3fe

(B) 28
(D) 29

TS & H ERAT T 741 9fa B
(A) fagarg g sid

(B) ¥™ wd g

(C) |rEd g dfeR

(©) 3w

% § Rpadl @R a9 & @ &

(A) st

(B) HH

() g.d.u.

(D) T.gu.

wige! e aig e T8 91 faa #7
(A) =d (B) Hegs
(C) fHy (D) AT
Frfafaa & DF-a1 779 Sifeee @) T8 e @ &
(A) FAX H9aH

(B) TYITHA

(C) FuET

(D) TgaIm
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21.

22.

23.

24.

25.

26.

2T.

28.

29.

30.

The present Lok Sabha of Parliament of India is :

(A 16" (B) 13"
(c) 158" (D) None of these

Who founded slave dynasty?

(A) Itutmish (B) Akbar .
(C) Qutub-ud-din Aibak (D) Humayun

Mac-Mohan line is the border between:

(A) India and China
(B) India and Nepal
(C) India and Pakistan
(D) India and Myanmar

Vasco-de-gama was a native of:

(A) America
(B) Britain

(C) Portugal
(D) Australia

The term “Bull” and “ Bear” is related to:

(A) Share Market

(B) Horse Racing

(C) Taxation

(D) International Trading

Which of the following is not present in blood ?

(A) RBCs
(B) WBCs
(C) Plasma
(D) Placenta

This area is termed as territorial water and resources
therein belonging to the nation:

(A) Oceanic area upto 12 nautical miles from the coast
(B) Oceanic area upto 19.2 nautical miles from the coast
(C) Oceanic area upto 15 nautical miles from the coast
(D) Oceanic area upto 20 nautical miles from the coast

Dilwara temple is at:

(A) Khajuraho
(B) Mount Abu
(C) Bhubneshwar
(D) Ellora

One star is going away from the Earth. Then the
observer on the Earth will experience:

(A) Decrease in wave length
(B) Increase in wave length
(C) No change in wave length
(D) None of these

Largest-Indian state in terms of area is:

(A) Madhya Pradesh
(B) Maharastra
(C) Rajasthan
(D) Karnataka

21.

22,

23.

24,

25.

26.

27.

28.

29,

30.
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(A) 16dt (B) 13dt
) 1541 (D) &% & @i T

TR 491 F Ee

(A) . gegamer (B) 91T
(C) FIFEH W= (D) g
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(C) Wd Ud uliehear

(D) 4R Ud RFHT

ARSI HEl & e o
(A) TR
(B) fores

(C) gma

(D) e

1T “Geifedr” O “defear” frad olag @
(A) T TR

(B) g3-3=

(C) =X

(D) ITRISIT WY
wh & B REwE w8 aar?
(A) & TF P
B) 3 Th HifdEpd

(C) wireA
(D) Q&=

78 B, 99 e 8 AFT ST ¥ o 3ee geEd s 4
wefvag B &

(A) ®97 T § 12 sifeda A FeM@riE 8 T

(B) W& T ¥ 19.2 Hifesa Hd Aedrg & 7%

(C) W& T ¥ 15 wHifedha A FeMEPHY 89 0%

(D) §9& A€ § 20 Afewa Aiq Fe@riy & a6 .

fecrargr afvy F&f W ¥

(A) T

(B) e Y

(C) gameaY

(D) T
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31.

32.

33.

34.

35.

36.

37.
38.

39.

40.

Hypertension is the term used for:

(A) increase in heart rate.
(B) decrease in heart rate.
(C) decrease in blood pressure.
(D) increase in blood pressure.

Who amongst the following is not a Lawn Tennis
Player:

(A) Rafel Nadal
(B) Roger Federer
(C) Tiger Woods
(D) Serena Williams

Newly formed state of Telangana was formerly a part
of:

(A) Karnataka

(B) Tamil Nadu

(C) Maharashtra
(D) Andhra Pradesh

The president can nominate two members of the Lok
Sabha to give representation to:

(A) The Anglo-Indians -

(B) Indian Christians

(C) Parsis

(D) Buddhists |

Currency of Japan is:

(A) Yen
(C) Guilder

(B) Dollar
(D) Deutch Mark

A solar eclipse occurs when:

(A) The Moon comes between the Earth and Sun

(B) The Sun, Moon and Earth are in triangular formation
(C) The Earth shadow falls on the moon

(D) All of these

Ranji Trophy is related to which sports:

(A) Cricket (B) Hockey
(C) Football (D} Tennis
Goiter is caused due to deficiency of:
(A) lodine (B) Iron

(C) Calcium (D) Thiamine

Which of the following is the largest planet:

(A) Neptune
(B) Jupiter
(C) Saturn
(D) Mars

Which of the following is wrongly matched:

(A) Hirakud - Mahanadi

(B) Pochampad - Godavari
(C) Nagarjun Sagar - Cauvery
(D) Bhakra Nagal — Sutlej

31.

35.

36.

37.

38.

39.

40.
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PART-II / 7 - Il (General Intelligence /9™ gfser)

(a)
DIRECTIONS: (Question no. 41 to 44) Read the information
given and answer the questions based on it.

Seven boys namely Prashant, Rajesh, Salman, Tarun, Umar,
Varun and Wasim go for tuitions to study different subjects
namely Mathematics, Physics, Sociology, Chemistry, Biology,
Economics and Accounts (not necessarily in the same order).
Each student studies only one subject and each subject’s tuition
is only once a week. Two subjects cannot be taught in the same
day. Also-

I.  Prashant studies chemistry and goes on Sunday.

Il.  Umar goes for tuition on Friday.

Ill.  The student who studies biology goes on Thursday

IV. Rajesh goes on Monday

V. Tarun goes on Wednesday but does not study
Sociology '

VI. Varun studies mathematics

VII. The student who studies economics goes on Tuesday.
Wasim and Tarun do not study economics

41. Mathematics tuitions are on which day of the week?
(A) Wednesday (B) Saturday
(C) Friday (D) Monday

42. Umar studies which subject?

(B) Accounts
(D) Cannot be determined

(A) Sociology
(C) Physics

43. If Umar studies accounts then on which day is
sociology tuition?

(A) Wednesday
(C) Monday

(B) Friday
(D) Thursday

44. If Rajesh studies sociology then Umar studies?

(A) Mathematics

(B) Physics

(C) Accounts

(D) Cannot be determined

DIRECTIONS: (Question nos. 45 & 46) Jumbled letters of
certain words have been rearranged so that a correct word can
be formed. Qut of the choices given below each question,
choose the last letter of the correct word so formed.

45. AYDOT
A A (B) D ©T )Y
46. ILCEOP
(A P (B) O
() L (D) E

DIRECTIONS: In the following question find the one which is
different from the rest.

47. ;
(B) Venus
(D) Mars

(A) Sun
(C) Saturn

[7]

frder (we7 ®@em 41 § 44) Frefafea & 1§ g B @ @ 3w
¥ ST U & ST a

U @ NE AW U, oy, TO9N, T80, I°Y, 90 g
TG & 7 b fawal R 9w 1, dite-oeE, a99-am,
THRA-9TE, Aa-fee, od-ame o dEiee (3 o TE 2
T I FA E) B O@ T oW 21 od e da @ e
T ¢ U@ UOE fNE & Tgee waE § daq O R e 8 &
fowar us 9 21 e T Ewan F ot

I wid TEEE-AE edr & Ul e S o

Il. X gFAR I TG ST &

. s ferdt sie-fas gear ® 98 gewftar @ s &
IV. TS GER # A 2

V. mwﬁw%@%w—wqﬁm%

VI. g& TR & 9eE & 8

.ﬁﬁaﬁmﬁ-waﬁmméwwﬁm
2 gdm wd e ord-are @ ger TE & B

41. TRE F FIA qEE & W R Bar 87

A) gUER (B) aifER
(C) gehar (D) "ER

42. IUY -7 fouT oremEs ear &7

(A) GHSH-9TE (B) @i
(C) Mferp-gme (D) fFaifya =&t fbar s o

43. IR I T@IHT H TGE H & A TES-IA B g9 HE
R &t 87
(A) gHarT (B) LAY
(C) T (D) FewafmN
44, AR TN TSI H AATT BT & o AT hEel
FETT BT 87
(A) TR
B) siifae-ame
(C) wraisw
(D) FraiRa =&t Ream s e

PR (ve dear 45 ud 46) Fp Fivea q=&i & o el @
g @ERYd B A 2 S 0 g 9= S 0 R R M
oo 99 S G EE feked ot o #T e B

45. AYDOT
(A) A (B) D
T (D) Y

46. ILCEOP
(A) P (B) O
) L (D) E

Frder: Fefeiaa wet & S@ 59 &2 S @ | R Eh
47

(A g
(Cy 9=

(B) g9
(D) H
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48.

49.

50.

51.

52.

53.

Find the missing number in the following figure:

36| 9 ? |27
W W
(A) 121 (B) 214
(C) 216 (D) None of these

In the following figure the rectangle represents Tennis
players, the square represents Badminton players and
the circle represents Football players. Find out the
player who is a Tennis player and Badminton player but
not Football player:

Badminton players

Tennis players 6
R VAIE
(3]4
Football players
(A) 1 (B) 5
(€ 3 (D) 2

Which digit will appear on the face opposite to the face
with number 4 in the following dice?

2 6
1 5

| 5

3
©€) 2 (D) 6

The most likely code for “Venezuela” is:

(A) 972754781
(B) 977254781
(C) 912154787
(D) 824265415

If day before yesterday was ‘Monday' then the day
after tomorrow will be:

(A) Friday

(B) Thursday

(C) Wednesday

(D) Cannot be determined’

All A are B” and all B® are C*® is best represented by
which diagram:

®
©

.:‘;

e
(&)
‘.._i'
&

-

©
®

= m

48.

49,

51.
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Rrefferr Rt & Rrgr o s ¢

WW

(A) 121 (B) 214
(C) 216 (D) 378 ¥ g

Frfefea R & o 2F Reerdt & aafar 8, ot Fefrest
faegt @ awien 8 w6 g9 gede Reandt @ 9w Raenst @
:EFEGﬁ e v Asfire faerdt @ oy el @ et

Jefiyreq fgarEl
g Rt | 6
1 %A=
\3]a et Pl
(A) 1 (B) 5
(C) 3 (D) 2
e 9 & oi% 4 & Rula a8 W a1 3w am?
2 6
1 ; 5 3
(A) 3 (B) 5
(C) 2 (D) &

“Venezuela” % Halfd® SIgh FT 8T

(A) 972754781
(B) 977254781
(C) 912154787
(D) 824265415

R & A @ @ R e @ @ & P 9w de-a RA
B:

gl ‘A’ ‘B’ & aur gl ‘B’ ‘C’ ¥ @ gakw whitifre B3
YarteE & R S e @

K L

c A
@ @
M N
A) K (B8) L
(C) M (D) N
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54. Which one number can be placed at the sign of
4 interrogation?

(A) 11
B) 13
(C) 12
(D) None of these

55. Which one number can be placed at the sign of
interrogation?

O O ¢

(C) 80
(D) None of these

56. Choose the correct number at the sign of interrogation?

Ko XX,

(A) 6
(B) 8
€ 7
(D) 3

57. Find the odd one out
(A) Malaria . (B) Plague
(C) Dengue # (D) Tetanus

58. In a certain code ‘PAISE’ is coded as ‘QBJTF’ and
‘CEASE’ is coded as ‘DFBTF’. How will ‘TRANGLE’ be
coded in the same code?

(A) USBOIMF
(B) USBMHMF
(C) USOBIMF
(D) USBOHMF

DIRECTIONS: A logical diagram is drawn following by four
choice groups. Select the choice which fit the logic of the
diagram

(A) Animals, Tiger, Lion
(B) Goat, Cow, Cat
(C) Pen, Pencil, Rubber
(D) Air, Water, Fire

59.

54, mﬁa%mwaﬁ?—mﬁwﬁwm%z

(A) 11
(B) 13
(C) 12
(D) 5T & &1 T

55. YagE e B ®N 9K HH-8 GO @ 9 gl 8

(A) 82
(B) 81
(C) 80
() T & B

HeaTeh e & W W E de ga?
23><16 9 2 14 8
12 19 ?><5 1z><1o
(A) 6

(B) 8

C) 7
(D) 3

57. faww % gearh:

(A) Wit (B) @I
() 1 (D) 9

58. fdl Fifde Fis & ‘PAESE" H ‘QBJITF &g fmar smr
uwd ‘CEASE’ %! ‘DFBTF’ %iE 5 sman &1 a ot i
‘TRANGLE’ & =1 ®ig B sy

(A) USBOIMF
(B) USBMHMF
(C) USOBIMF
(D) USBOHMF

Mo uw afe Y@ & uvE 9] foed R oW E S|
fopee & g7 S e H At gfte § @ S an

(A) dHeR, 9, R
(B) 4, T, foeeh
(C) @em, UR, &Y
(D) arg, v, =

4
¥
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60. Pick the odd one out.

(A) MNO
(C) FGH

(B) UVW
(D) QRT

60. RrRifad & & o B g

(A) MNO (B) UVW O
(C) FGH (D) QRT

DIRECTIONS: Select the most logical choice/choice which satisfies the reiationshib in the following questions.

Frder e § RY T I Rt B g S T B AYR HQ 2
61. Question figure (W% STHRY)

T IO

INSTRUCTIONS: In the following diagram three classes of
population are represented by three figures. The triangle
represents the school teachers, the square represents the
married persons and the circle represents the persons living in
joint families.

62. Persons who live in joint families, are unmarried and
who do not work as school teachers are represented by:
(A) C (B) B
(C) E (©) D -

' 63. STATEMENTS:

Some rings are diamonds
All fruits are tasty

Some tasty are diamonds
All diamonds are almonds

CONCLUSIONS:
l. Some almonds are fruits
Il. Noringis almond

- (A)
(B)
(©)
(D)

Only conclusion | follows

Only conclusion Il follows

Both conclusion | and Il follows
None follow

64. STATEMENTS:
All rats are cats.
No cow is cat.

No dog is cat
CONCLUSIONS:
I. Nodogis rat.
. Nodogiscat
(A)
(B)
(©)
(D)

Only | follows
Only 1 follows
Both | and Il follow
None follow

[10]

Answer figure (ITT )

) T (=) (C) (D)

ot R Y R ¥ owen & & ARET @ R & R
R

T F B R w2 e #, a wERi
3-fafee afrat Bt o a0 sRRfT ST 3- HgF aEnt #n

62. ¥ =fE o 9gw MRaR 7 e § ol orfeaifea ¥, A o

(A) C (B) B

(C) E (D) D
63. FHUT:

7B oI & ¥

ol % e &

78 @ikw & ¥

aeft 2R T #

ferepnt:

I &l SEE e @

. B o g awrr TE B

(A) Baet Frepe | T STTET B 8

(B) @ Frepd |1 1 STERT B B

(C) AT Fpsl | Qe 11 B SAET Bl B

(D) #g i Frepd oTgEReT & B 8
64. T

el g2 fafeerr ¥

¥ T Reeh T R

B¢ o foee T R

frrep:

I @ Fa gEl TE B

I B g e T

(A) daet Fremd 1@ 2 8
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There are two clocks, both set to show 10 pm on 21
January 2010. One clock gains 2 minutes in an hour
and the other clock loses 5 minutes in an hour. then by
how many minutes do the two clocks differ at 4pm on
22" January 20107

(A) 126 minutes
(C) 96 minutes

(B) 136 minutes
(D) 106 minutes

66. Raghuram faces north and covers 24 km, turns west
and covers 12km, then turns south and covers 6 km
and turns west again and covers 12 km. How far is he
from the starting point and in which direction?

(A) 24 km north west (B) 30 km north west
(C) 30 km south east (D) 48 km north west

67. If in a certain code ‘TREMBLING' is coded as
‘592678314°, then which of the following have been
incorrectly coded according to the above relationship?

(A) GMBT — 4679
(B) LREG - 8924
(C) MNRL — 6198
(D) GNTE - 4152

DIRECTIONS: (Question no. 68 & 69) Each of these questions
consists of a pair of words bearing a certain relstionship. From
amongst the alternatives, choose the alternative that best
illustrates a similar relationship.

68. Triangle : Hexagon

(A) Cone : Sphere

(B) Rectangle : Octagon
(C) Pentagon : Heptagon
(D) Angle : Quardilateral

69. Stare : Glance
(A) Gulp : sip
(B) Confide : tell
(C) Hunt:stalk
(D) Leg:walk

70. If2=54=18,6=39and 8=68then10="7

(A) 45
(B) 105
() 81
(D) 100

71. In a joint family of seven persons F, E, N, J, P, Mand L,
there are two married couples. F is a housewife and
her husbhand is E. J is the wife of N. L is the
granddaughter of F. E is the father in law of J and
father of P. M is the son of N and brother of L. How is J
related to P?

(A) Sister
(B) Sisterin law
(C) Niece
(D) Cousin sister

65.

66.

67.

s (197 ©er 68 wd 69) Frfafad wet § gt

ar ufedi 21 s=Edl, 2010 H 10 PM a9
SR 81 T gE o He ¥ fee o aed

PM 9 a1 gfsal & Reaem v @m:

(A) 126 e (B) 136 fie
(C) 96 fiFe (D) 106 fFe

T SOX B T G5 e 24 Bl B g 77w @ R
e et 12 Bl @ g 9 X & g AR g 6
Bl it gt @@ F ¥ o g 98 uived gee] 12 R
gl d Hw B oaew g @ 98 Bt g W R
feem & &7

(A) 24 Rl SAC-UEE (B) 30 fl. Ie-uidEm

(C) 30 ft. aRr-qd (D) 48 Relt, Tae-gfEw

it frel ffiea B § ‘TREMBLING’ & ‘592678314’ $ig
e orr &, @ SUe @l $ SMER 9T HH-91 T HiS
e T

(A) GMBT — 4679
(B) LREG - 8924
(C) MNRL — 6198
(D) GNTE — 4152

&
far mr @ Pl o Fifeg a=rg 21 R Redl § 8 0@ & 95y
9id g Mg B FH |

68.

69.

70.

71.

[11]

Preet : weq
(A) 9% : e
(B) T : ST
(C) U= : as
(D) &7 : AGHS

THTDH : TTD

(A) TTEEHT ;TR A

(B) fagam &y« g4

(C) fompT & ¢ Ut RN &

(D) WX : T&@

gfe 2=5,4=18,6=39 T 8=68 S A 10=?
(A) 45 ;

(B) 105

(C) 81
(D) 100

wa Afwedt F, E, N, J, P, M @@ L 3 @k WRax & &
farfe siie 81 F =X #feen 8 oF E S&w i 81 N # oo
JUFHAWNLAE JFTRIWPH AT N &
MR M & FEL 3 J, P& e v dafea 3
(A) s&d '
(B) =t
(C) =it
(D) =T s
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72.

73.

74.

75.

76.

77.

78.

79.

80.

Find the wrong number in the following series. 72.

18, 82, 29, 93, 39,

(A) 18
(C) 93

(B) 29
(D) 39

This question follow some pattern, choose the correct 73.

alternative to fill the places for question marks.

4 2 2
4 3 3
i : 3 4
64 125 ?
(A) 125 (B) 625
(C) 325 (D) 525

Rakhi is taller than Neeta but not as tall as Babita. 74.

Leela is shorter than Rakhi but taller than Garima. Who
among them is the tallest?
(A) Rakhi
(C) Leela

(B) Babita '
(D) None of these

How many 9's are there in the following number 75.

sequence which are immediately followed by 8 and
immediately preceded by 77
798759879879757985879798

(A) Two (B) Three

(C) Four (D) None of these

The position of how many letters in the word BRAKES 76.

remains unchanged when they are arranged in
alphabetical order?
(A) One
(C) Two

(B) Three
(D) None of these

If water is called food, food is called tree, tree is called 77.

sky, sky is called wall, on which of the following grows
a fruit?

(A) Water
(C) wWall

(B) Tree
(D) Sky

In a family there are husband wife, two sons and two 78.

daughters. All the ladies had gone for a feast. Both
sons went out to play. Husband did not return from
office. Who was at home?

(A) Only wife was at home
(B) All ladies were at home
(C) Only sons were at home
(D) No body was at home

If BAD is written as YZW and SAME as HZNV, then 79.

LOVE will be coded as:

(A) ROWN (B) oJucC

(C) OLEV (D) NOPL

Which word does NOT belong with the others? 80.
(A) Wing (B) Beak

(C) Fin (D) Rudder

[12]

" (C) &R

e Ao & g de B s
18, 82, 29, 93, 39,

(A) 18 (B) 29
(C) 93 (D) 39
Frafafen ue Rl oo &1 orgaRTr $@ & gEEs
wE G 2g we R @ gaE B
4 g 2
4 3 3
2 3 4
64 125 ?
(A) 125 (B) 625
(C) 325 (D) 525

e i & = ¥ AT a9 A o 8 ¥ fen e @
gﬁ%%mﬁw%lﬁmﬁmmw#{
?

(A) & (B) wliar

(C) e (D) &% § g &l
Friofea dear gaar & R 28 9 B R R sk 8 @@
- T UEN 7 ST 87
798759879879757985879798

(A) a (B) &

(C) &} (D) 34 & 38 &

9= BRAKES ¥ Rm} omm # Refy 78 wedd aR 3@
m%mﬁaﬁﬁaﬁmm?

(A) TH (B) @9

(C) & (D) 7% ¥ FE &

IR o B G, W B U, IS B S TH A W
&R gemr o 2, @ Frafafea # @ e W o Yo @
(A) 5| B) &

(D) ST

o WRER # ofe-oeh, & @@ w@ @
ao F W A gH G T
SN §Y 9T BN 917

(A) I T g 9T o

B) @l AR oY 9T &f

(C) @ae T oY W &

(D) §X WX Hig & o1

gt &1 ad At o
gy Siftey § =X gy T8

gfe BAD # YZW forar oiiar @ ©d SAME &I HZNV REr
S 8, @ LOVE %7 $is @41 arm?

(A) ROWN (B) OJUC
(C) OLEV (D) NOPL
HT-H IR G A T T8

(A) v (B) ==
(C) #Hrae (D) ot
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PART-IIl (ENGLISH LANGUAGE;)

TPRECTIONS: (Question No. 81 to 85) In the following
questions, select the appropriate word which best represents
the given set of words. :

81. A government run by officials:

(B) Democracy
(D) Autocracy

(A) Bureaucracy
(C) Theocracy

82. A person reserved in his speech:

(A) Retarded (B) Reticent
(C) Redundant (D) Cautions

83. Increase the speed of a vehicle:

(A) Gravitate (B) Retard
(C) Accelerate (D) Aggregate

84. A person whose thoughts are turned inwards:

(A) Extrovert (B) Invertebrate
(C) Intelligent (D) Introvert

85. One who can be easily duped or fooled:

(A) Excitable (B) Secretive
(C) Suspicious (D) Gullible

DIRECTIONS: (Question No. 86 to 90) In these questions, each
of the sentences has a blank space and four words are given
after the sentence. Choose the word from the alternatives (A),
(B), (C) and (D) that you consider most appropriate for the blank
space.

86. They had turned ........... the water while they were
repairing a burst pipe.
(A) Out (B) Off
(C) Down (D) Back

87. On the ........... Friday, January 30, 1948, Gandhiji
woke up as usual at 3:30 A M. :
(A) Fateful (B) Historical
(C) Tragic (D) Sad

88. The television station was ............ with letters and

phone calls after the announcement:

(A) Drowned (B) Stormed
(C) Deluged (D) Absorbed

89. He is a famous .........., he has been collecting
stamps for the last two decades:
(A) Philologist
(B) Philistine
(C) Philatelist
(D) Philanderer

90. India and Pakistan are geographically
countries:

(A) Contagious
(B) Contiguous
(C) Continuous
(D) Contentious

[13]

DIRECTIONS: (Question No. 91 to 93) Each of the following
sentences has been broken in three parts (A) (B) and (C). If
there is some grammatical error in any of these parts, that is
your answer. If there is no error, the answer is (D).

Ihave reached the school before the rain started

91. I ! )
(A) ) (€)
No error
(D)
92. He is man / which lknow / you can trust / No error
(A) B) (€) (D)
93. She was / on his way to the market / when she met m'e
(A) (B) (€)
; Noerror
- (D)

94. Choose the appropriate preposition to fill in the blank.
The book lies ....... the table.
(A) on (B) at
(C) over (D) in

95. Choose the appropriate preposition to fill in the blank.

The driver jumped ....... the car.
(A) of ' (B) to
(C) off (D) from
96. Choose the appropriate preposition to fill in the blank.
Our plane stopped ....... Mumbai airport on the way to
Italy.
(A) in (B) over
(C) on (D) at
97. Choose the correct article to complete the sentence.
Shusil is ........ N.C.C. Officer:
(A) Some (B) An
(C) The D)y A
98. Choose the correct article to complete the sentence.
The rose is ...... sweetest of all flowers:
(A) The (B) A
(C). An (D) One
99. Choose the correct answer.
Your clock is ....... hour fast:
(A) The
By A
(C) An
(D) Your

100. The sentence given here is in active voice. You have
to choose from alternatives the correct passive voice:
| spoke to him.

(A) He was spoken to by me.
- (B) He was spoken by me.
(C) 1 was spoken by him
(D) He had been spoken by me
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DIRECTIONS: (Question No. 101 to 105) In this section, you
have short passage. After the passage you will find questions
based on that passage. Read Passage to answer the questions
based on it.

PASSAGE

The first and decisive step in the expansion of Europe
overseas was the conquest of the Atlantic Ocean. That the
nation to achieve this should be Portugal was the logical
outcome of her geographical position and her history. Placed on
the extreme margin of the old classical Mediterranean world
and facing the untraversed ocean, Portugal could adapt and
develop the knowledge and experience of the past to meet the
challenge of the unknown. From the seamen of Genoa and
Venice, they had learned the organisation and conduct of a
mercantile marine and from Jewish astronomers and
mapmakers the rudiments of navigation. Largely excluded from
the share in Mediterranean commerce, at a time when her
population was making heavy demands on her resources,
Portugal turned southwards and westwards for opportunities of
trade and commerce. But ocean navigation was not the same
as navigating the land-locked Mediterranean. The earliest of the
band had neither the benefit of sailing directions nor traditional
lore. Even the familiar heavenly constellations had been left
behind. The challenge was formidable.

101. According to the passage, the most important step in
the expansion of European power was:

(A) The emergence of Portugal as a power

(B) The growth of Mediterranean commerce

(C) The contact of Europeans with Jewish astronomers
(D) The conquest of the Atlantic Ocean

102. The most important advantage that Portugal had, was its:

(A) Geographical location

(B) Contact with the Arabs

(C) Contact with Genoa and Venice
(D) Cultural history

103. The Portuguese sailors were ready to explore the

world by sea because they:

(A) Knew about many countries

(B) Had rich patrons to finance them

(C) Were prepared for the hazards of sea voyage

(D) Were in touch with seamen from Genoa and Venice

104. Portugal was motivated to pioneer ocean navigation

because:

(A) It was encouraged by other European powers

(B) It faced strong rivals in land-base trade

(C) It collaborated with Venetian merchants

(D) lts limited resources could not support its growing
population

105. The earliest group of Portuguese navigators going

across the Atlantic did not find the venture:

(A) Different from land-locked navigation
(B) More difficult than coastal navigation
(C) Easy and comfortable

(D) .Challenging and demanding

[14]

DIRECTIONS: (Question No. 106 & 107) Choose the word
which is most opposite in meaning to the word given in capital
letters. )

106. DISAGGREMENT:

" (A) Consensus
(B) Overlook

(C) Senseless
(D) Appropriate

107. DULL:

(A) Monotonous
(B) Colourful
(C) Vibrant

(D) Chequered

DIRECTIONS: (Questions No. 108 & 109) In each of the
following questions, a word has been written in four different
ways. Only one is correctly spelt. Mark the correct alternative

108.
(A) Rigorous
(B) Riguorous
(C) Rigerous
(D) Rigerouss

108.

(A) Indispensable
(B) Indispensible
(C) Indispenseble
(D) Indespensable

110. Change the following sentences into reported speech.

He said to me, “where are you going?”

(A) He told me where | was going

(B) He asked me where | was going.
(C) He told to me where he was going.
(D) He asked him where was he going?

111. Change the following sentence given in Direct speech
into Indirect Speech and mark correct answer
choosing from options given.

The prince said, * It gives me great pleasure to be
‘there this evening.”

(A) The prince said that it gives him great pleasure to be
there this evening.

(B) The prince said that it gave him great pleasure to be
there this evening.

(C) The prince said that it gives him great pleasure to be
there that evening.

(D) The prince said that it gave him great pleasure to be
there that evening.

112. Use correct tense and fill in the blank to make the

correct sentence.
He ......... to Kolkata yesterday.

(A) went
(C) will be going

(B) has gone
(D) was gone
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113.

>

114.

115.

116.

Each word given in the alternatives are matched with
its synonym and antonym. One.is not correctly
matched. Find the one not correctly matched.

117.

Word Synonym Antonym
(A) Abscond Flee Remain
(B) Abate Suppress Rise
(C) Abash Confused Confident $
(D) Acquit Convict  Exonerate B
Each word given in the alternatives are matched with
its synonym and antonym. One is not correctly
matched. Find the one not correctly matched.
(A) Decease Death Birth
(B) Demean Humiliate Respect
(C) Defer Advance Postpone 119.
(D) Deem Recon Overlook
Identify the incorrect sentence.
(A) 1 have been writing five letters since morning.
(B) | have been writing letters since morning.
(C) 1'have written four letters since morning.
(D) | was writing letters
120.
Choose the word which is most nearly the same in
meaning as the word given in capital letters.
RECOGNIZE
(A) Acknowledge
(B) Identify
(C) Familiar
(D) Catch
[15]

Identify tense in the following sentence:
Had the Government made a mistake?
(A) Past Indefinite Tense

(B) Past Perfect Continuous Tense

(C) Past perfect tense
(D) Past continuous Tense

Fill in the gap suitably:
Measles ____infectious.
(A) is

(B) are

(C) were

(D) are being

Fill in the appropriate option to make the sentence in
Future Perfect Tense”.

By the end of this month | ............... here for five years.
(A) Will work

(B) Will have worked

(C) Will have been working

(D) Will be working

Fill in the gap with suitable preposition in the
following question:

“Kate, sit

(A) Beside

(B) Besides
(C) into

(D) unto

your granny, will you?”
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" PART-1V (MARATHI LANGUAGE)

121.

122.

Gt vs ata fags aed gof F.

qrever @ N IR e, dF Riwvarard @i —
(A) WU ufRs™ del 8.

(B) A Wy UReM HA B, |

(C) o U uRSAT HRVIR TR,

©) & gu yRsm dcilel

@@ﬁémmﬂaﬁﬁmﬁa@'mmml

e

(A R dfel dadl gEibs ARadl.

123.

124.

125.

126.

127.

128.

129.

@®) Rrear anfr wika v gEBS diet Hbd AR,
() Ricar anfdr iiwa wed e Y ge=ar dfa
(D) PRreurt b ga=aiHl Bael diel RaPs.

Ige arag fAast

(A) WIS HEHT 3NSlizUl ORIV TSl uviudd  HieR
GG a3, ‘

®) WS W &g AT HleR wasaR i
HAURE Al RTa.

(C) HTE W Aol HUURGT "l
Hlex ARIdeTaR a1

(D) TS AT BRI AT Ol BRIV aral
AT AUSHAIR G, HFe

g amel

T dETd Ua....... YeTd Bl

(A) DI (B) WU

(C) | (D) B!

Qe R TIURE IYgd I TIR D

(A) B Sgs Arar A A SiaERdrd.
(B) @ral g% g Srareere g,
(C) STITERE BRI AG Aral e,
(D) arel EH Bld SATEverd .
(A T Ael W dle AN des,
(B) @l T As | U ALK,
(C) Wi A A Bl 3N I,
(©) o aa i B N Ao,

e s O Fremor ange are of
Crs 1
far : wen A e 3nfdr va aE & e,
(A) gHd BR F{S ATE?
(B)grajdf?rzﬁa?

q

(€) arel A, el FR EA AR?

(D) a1 B9 3ol Uigyl AUIR Al B1?
Ige g fast

(A) FHaf= (B) Hfaa=
(€) wafdfx (D) @d1aAl
W = Regel v S

(A) @™ (B) ©¥ZUR
(C) aH (D) W&

Marathi [ 16 ] -

130.

131.

132.

133.

134.

135

136.

137.

138.

139.

140.

wpf wrearan famaril s foret,

(A) favgd (B) 3%

(C) e (D) HRI=Tdl
gt & g + 9ed
(A) qHee

©) [atey

=R YEey s

(A #fd (8) #rchl
(€) BrHd (D) S
(A) HIVH

(B) fawrerm

(C) Yaxn

D) &3,

qrereTETd) Ud ve foran

AT 3R Tl dl..

(A) FRIPR

(B) TRIUHR

(¢) fagsr

(D) SHTR

(A) fararn T

(B) gl Wie

(C) SFTaRTEl HHE

(D) AT BTN ATE!

a@relle arer B fARmfirE dEd Sge —

8
)

Ay " ®) !
() ? (0) I
‘3R SreaTEn A By MR?

(A) 3T (8) HIh
(©) urfl (D) et

(A) URaR + g
@®) uilR + aik®
(c) aRaiR + &
(D) T& BIUE ATEl

frer weaTan et —
(A) 3T

(B) 41y,

(cy urhl

(D) &

@rell foreur arayaRrET Avg el e —
Qe ®ae ARSI

(A) ETawrIdl TS

(B) WU b Ml

(C) Wu d&r &yl

(D) Ulerd gEa
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141.

142.

143.

144,

145.

146.
147.

148.

149.

150.

Gieflelian gg s Figer.
(A) 3rcifds
(B) 3enfhe
(C) 3rcitfbep
(D) arTctfdhes

aeitel qot SiIgT P e qAR BN
ISHAARA AL H

(A) TR
(B) Jxidhary

(C) g¥cIery

(D) JHIdTey

Greflere ‘g’ a1 v Regrell wsw —
(A) 93

(B) @y

(C) W=y
(D) M@dd

el ficlen TRt 38 @ arwr Raer s v

YHRIT FTEUTET Food Dl e,

(A) qol BTl EDHT 9% QU SeRa B

®) @ frde Worg smranr ayfe wda A
gfeod wiegar. |

(C) ufg Ruerr gax rasmbren muar veiwr ).

(D) Y=urays S TV ad @ @i R

- g nft wEife A, _

Grefleida! e Wiy Foay ame?

(A) T — ")

(B) Aol — %)

(C) #T — 7wt

(D) ==l — Hir

TR UG T SOIRT 9ee —

(A) IR (B) bl

(C) Frare) (D) D

YR WU —

(A) T

(C) ¥

Y yrife wY A —

(A) Hifeaa

(B) faRaa

(C) urpRfUi®w

(D) Hibfs

3% gl ared A 17 A1 g arenr ar st

qafy Siv@r 4 |,

(A) T UFHel ared B

(B) < wafar ywre area &,

(C) N ureTray geull arey ).

- (B) HYawr
(D) #erameR

(D) frem At area 8

“rafa 'R @relt” arar aref —

(A) TTeT=T ASTeTaR JMEVIRT i #rop,
(B) T woRTe B <@l BRIuE ooy
(C) ERIFEa g areur,

(D) I HorE BRI @,

Marathi [ 17 ]

151.

152

153.

154,

155.

156.

157.

158.

189.

160.

(A) 7 (B) Ge®
(C) uI§ry (D) ude
"Bl TG wWurl —

(A) & g o,

(B) & fergror vy,

(C) aadrar A7 wioyuy,

(D) fEorauy,

g a1 wreTer Aegredf e —
(A) &

(B) g

(C) Wetgtd)

(D) urHY

“ILARHYT T T R 4 wwofrar aref —
(A) FordEr SIRd @ o),

(B) 31ftRe @vo). :

(C) 3iueur QUAyHIY @ g,

(D) e e =1 @y,

AR @ v w@relieite @vrar Suw anfor
Wehg 3ed—

(A) 9, @

(B) 4, a

(C) u, faa

(D) ¥, ga

YA R A Al wgoREn gueaiaRd) an
TR AR—
(A) Jrgurs
(B) SUAI
(C) uweb
(D) ¥

s = AR —
(A) 12y
(B) =T:EIH4
(C) T3
(D) ©=T3ITH

(A) FgdIE) e
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Answer Keys of 30.06.2017 Examination

English Marathi Assamese Urdu
Language Language Language | Language
Q.No.| Ans | QNo.| Ans | Q.No.|[ Ans |Q.No.| Ans |Q.No.[ Ans | Q.No.|Ans

1 D 41 B 81 A 121 A 121 C 121 | C
2 D 42 D 82 B 122 B 122 C 122 B
3 A 43 C 83 C 123 A 123 D 123 | D
4 C 44 D 84 D 124 D 124 B 124 | A
5 B 45 D 85 D 125 B 125 C 125 | B
6 B 46 D 86 B 126 B 126 A 126 D
7 B 47 A 87 A 127 C 127 B 127 | C
8 A 48 C 88 C 128 A 128 C 128 D
9 D 49 B 89 C 129 A 129 D 129 | B
10 B 50 A 90 B 130 B 130 A 130 | C
11 B 51 A 91 A 131 B 131 A 131 | A
12 B 52 A 92 B 132 B 132 B 132 C
13 C 53 C 93 B 133 A 133 D 133 | B
14 D 54 C 94 A 134 A 134 B 134 | C
15 A 55 B 95 C 135 B 135 C 135 | A
16 B 56 A 96 D 136 A 136 B 136 | B
17 C 57 D 97 B 137 A 137 C 137 | C
18 D 58 D 98 A 138 A 138 D 138 | B
19 B 59 A 99 C 139 B 139 B 139 | C
20 B 60 D 100 A 140 B 140 B 140 C
21 A 61 D 101 D 141 C 141 B 141 | C
22 C 62 C 102 A 142 D 142 A 142 B
23 A 63 D 103 D 143 B 143 C 143 | A
24 C 64 C 104 D 144 C 144 D 144 | C
25 A 65 A 105 C 145 A 145 B 145 | B
26 D 66 B 106 A 146 A 146 C 146 C
27 A 67 A 107 C 147 A 147 D 147 | A
28 B 68 B 108 A 148 D 148 C 148 C
29 B 69 A 109 A 149 A 149 B 149 | D
30 C 70 B 110 B 150 D 150 B 150 | C
31 D 71 B 111 D 151 D 151 C 151 B
32 C 72 D 112 A 152 C 152 C 152 C
33 D 73 B 113 D 153 B 153 C 153 | D
34 A 74 B 114 C 154 C 154 B 154 B
35 A 75 C 115 A 155 B 155 B 155 | C
36 A 76 C 116 B 156 B 156 A 156 | D
37 A 77 D 117 C 157 A 157 A 157 | A
38 A 78 D 118 A 158 C 158 C 158 | B
39 B 79 C 119 B 159 B 159 C 159 | C
40 C 80 C 120 A 160 B 160 B 160 | B

Qno Description
12 Answer Changed (A) to (B)

Note: The final answer keys have been prepared on the advice of subject experts after
considering the objections / representations received from the candidates on

questions / answers. The above mentioned keys are final on the basis of which

result is being processed. Where ever ambiguous questions/ answers have been
noticed by subjects experts , FULL MARKS HAVE BEEN AWARDED FOR THE
SAME. In case of change of answer keys, the same have been changed wherever
advised by subject experts. The keys published here are final on the basis of which
MERIT LIST WILL BE PREPARED. NO FURTHER QUERY / REPRESENTATION
SHALL BE ENTERTAINED IN THIS REGARD.




